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=1 TN 2 TREBR | pases | ot | FE | =
X4 AR ag | FRE | ERE | apx | zas | 505 | e
BH(KZEE) 2 95 68 7 7 4 17.0
TRGERZEEE) 1 8 7 3 3 1 7.0
EREKREREE) 1 4 4 3 1 0 -
N FYGAE R (KEERE) 1 32 24 5 4 1 24.0
Al
A
REL-PHEHH(EXEREE) 3 16 15 9 6 4 38
REEER (KRZEFEE) 1 5 5 3 3 2 25
HEEN T (KZEREE) 1 6 4 2 2 1 40
FEEELE) (KEEE) 1 14 13 3 1 0 -
B wwmmen
%ﬁ B 1EIx= 1 6 3 2 2 1 3.0
TREREREE) 1 1 1 0 - - -
= REL-PHEHH(EXEFEE) 2 3 2 2 2 2 1.0
3
M i emn+ (ke 1 1 1 1 1 T,
FEE(ELR) (KEEE) 1 3 2 1 1 1 2.0
a5t 17 194 149 41 33 18 -




